Combination- Answers

1) MgCly + 30 =--= Mg(ClOs)2
2) 4Na + Oy ---> 2ZNa,O

3) P,O3 + 3H,O ---= 2H;PO;
4) K, O - H,O ---= 2ZKOH

5) BaO + CO; ---= BaC0;

6) BeO + CO; ---= Be(CO;

T:} Hl}ﬂg + 3H,0 ---= Eﬂ_l[:[:}Hj}g
8) N20s - Hy0O ---= ZHNO;

9) 2ZNaCl + 30; ---= 2ZNaClO;
10) Ra + Cl ---= RaCl;




Decomposition- Answers

1) N1(ClO3z); ---= Ni1Cl; + 30,
2) 2ZAg,0 ---= 4Ag + O

3) ZHNO; ---=Ny0s - H20

4) 2ZFe(OH); ---= Fe; 03 + 3H;0
5) Zn(CO;3) ---= Zn0O +~ COs

6) Cs2C0; =--= C50 + COx

T:} Eﬂl(ﬂHj}g ---= Al,O; + 3H,O
8) H;S04 ---= 50; -+ H,O

0) 2ZRbClO; ---= 2EbC1 + 30;
10) RaCly ---= Ra + Cl



Single Replacement- Answers

1) 2ZAl + 3Pb(NO3); ---= 3Pb + 2ZAI(NO3)3
2) Cly + 2Nal ---= I, + 2NaCl

3) Fe + 2ZAgCH3O, ---= 2Ag + Fe(CoH3:Ox )
It Fe(III) 15 used. then Fe(C;H;0;); would result.
4) 2Al + 3CuCl; ---= 3Cu +~ 2ZAIC];

5) Br; + Cal; ---=I; + CaBr:

6) 2ZAl + 6HC1 ---= 2AICIL; + 3H;

7) Mg + 2HC] ---= MgCl, ~ Hy

8) Zn + HySOy ---= ZnS0y +~ H;

9) Fe + CuSQy ---= Cu + Fes50Qy

It Fe(II) 1s used. then Fey(S0O4); would result.
10) Cl; +~ Mgl; ---= I + MgCl;



Combustion- Answers

1) 2CsHs + 1507 ---= 12C0O2 + 6H;0

2) CyyHy»p O + 1205 === 12C0; + 11HO
3) CysHs; + 3807 --->  25C0O,; + 26H20
4) C;HsOCHs ~ 607 ---= 4C0; + S5HO
5) C4HoOH + 60y =---=  4CO, 5H>O




